

①

$$\begin{array}{r} 15 \\ 38 \overline{) 570} \\ \underline{38} \\ 190 \\ \underline{190} \\ 0 \end{array}$$

②

$$\begin{array}{r} 30 \\ 14 \overline{) 420} \\ \underline{42} \\ 0 \end{array}$$

③

$$\begin{array}{r} 31 \\ 25 \overline{) 775} \\ \underline{75} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

④

$$\begin{array}{r} 10 \\ 40 \overline{) 400} \\ \underline{40} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 9 \\ 18 \overline{) 162} \\ \underline{162} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 4 \\ 40 \overline{) 160} \\ \underline{160} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 346 \\ 2 \overline{) 693} \\ \underline{6} \\ 9 \\ 8 \\ \underline{13} \\ 12 \\ \underline{1} \end{array}$$

⑧

$$\begin{array}{r} 111 \\ 5 \overline{) 557} \\ \underline{5} \\ 5 \\ 5 \\ \underline{7} \\ 5 \\ \underline{2} \end{array}$$

⑨

$$\begin{array}{r} 90 \\ 9 \overline{) 810} \\ \underline{81} \\ 0 \end{array}$$

①

$$\begin{array}{r} 49 \\ 7 \overline{) 343} \\ \underline{28} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

②

$$\begin{array}{r} 111 \\ 8 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 16 \\ 18 \overline{) 288} \\ \underline{18} \\ 108 \\ \underline{108} \\ 0 \end{array}$$

④

$$\begin{array}{r} 10 \\ 18 \overline{) 180} \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 47 \\ 5 \overline{) 235} \\ \underline{20} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 32 \overline{) 320} \\ \underline{32} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 6 \\ 19 \overline{) 114} \\ \underline{114} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 111 \\ 4 \overline{) 444} \\ \underline{4} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 7 \overline{) 777} \\ \underline{7} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

①

$$\begin{array}{r} 20 \\ 41 \overline{) 820} \\ \underline{82} \\ 0 \end{array}$$

②

$$\begin{array}{r} 112 \\ 4 \overline{) 448} \\ \underline{4} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 136 \\ 7 \overline{) 952} \\ \underline{7} \\ 25 \\ \underline{21} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

④

$$\begin{array}{r} 111 \\ 6 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 8 \\ 73 \overline{) 584} \\ \underline{584} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 139 \\ 4 \overline{) 559} \\ \underline{4} \\ 15 \\ \underline{12} \\ 39 \\ \underline{36} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 32 \overline{) 960} \\ \underline{96} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 312 \\ 3 \overline{) 936} \\ \underline{9} \\ 3 \\ \underline{3} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 81 \overline{) 243} \\ \underline{243} \\ 0 \end{array}$$

①

$$\begin{array}{r} 121 \\ 4 \overline{) 484} \\ \underline{4} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3 \\ 97 \overline{) 291} \\ \underline{291} \\ 0 \end{array}$$

③

$$\begin{array}{r} 7 \\ 38 \overline{) 266} \\ \underline{266} \\ 0 \end{array}$$

④

$$\begin{array}{r} 10 \\ 11 \overline{) 110} \\ \underline{11} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 60 \\ 14 \overline{) 840} \\ \underline{84} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 117 \\ 6 \overline{) 707} \\ \underline{6} \\ 10 \\ \underline{6} \\ 47 \\ \underline{42} \\ 5 \end{array}$$

⑦

$$\begin{array}{r} 319 \\ 3 \overline{) 957} \\ \underline{9} \\ 5 \\ \underline{3} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 428 \\ 2 \overline{) 857} \\ \underline{8} \\ 5 \\ \underline{4} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 273 \\ 2 \overline{) 546} \\ \underline{4} \\ 14 \\ \underline{14} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2 \\ 70 \overline{) 140} \\ \underline{140} \\ 0 \end{array}$$

②

$$\begin{array}{r} 20 \\ 35 \overline{) 700} \\ \underline{700} \\ 0 \end{array}$$

③

$$\begin{array}{r} 124 \\ 6 \overline{) 744} \\ \underline{6} \\ 14 \\ \underline{12} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

④

$$\begin{array}{r} 22 \\ 9 \overline{) 198} \\ \underline{18} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 181 \\ 4 \overline{) 724} \\ \underline{4} \\ 32 \\ \underline{32} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 233 \\ 3 \overline{) 699} \\ \underline{6} \\ 9 \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 8 \\ 59 \overline{) 472} \\ \underline{472} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 7 \\ 82 \overline{) 574} \\ \underline{574} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 71 \\ 4 \overline{) 284} \\ \underline{28} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 111 \\ 5 \overline{) 559} \\ \underline{5} \\ 5 \\ \underline{5} \\ 9 \\ \underline{5} \\ 4 \end{array}$$

②

$$\begin{array}{r} 2 \\ 98 \overline{) 234} \\ \underline{196} \\ 38 \end{array}$$

③

$$\begin{array}{r} 20 \\ 48 \overline{) 960} \\ \underline{96} \\ 0 \end{array}$$

④

$$\begin{array}{r} 9 \\ 51 \overline{) 459} \\ \underline{459} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 326 \\ 2 \overline{) 652} \\ \underline{6} \\ 5 \\ \underline{4} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 79 \\ 7 \overline{) 553} \\ \underline{49} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 85 \overline{) 340} \\ \underline{340} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 3 \\ 84 \overline{) 252} \\ \underline{252} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 80 \\ 3 \overline{) 240} \\ \underline{24} \\ 0 \end{array}$$

①

$$\begin{array}{r} 434 \\ 2 \overline{) 868} \\ \underline{8} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 5 \\ 53 \overline{) 265} \\ \underline{265} \\ 0 \end{array}$$

③

$$\begin{array}{r} 222 \\ 4 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 123 \\ 6 \overline{) 741} \\ \underline{6} \\ 14 \\ \underline{12} \\ 21 \\ \underline{18} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 138 \\ 7 \overline{) 966} \\ \underline{7} \\ 26 \\ \underline{21} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 15 \overline{) 300} \\ \underline{30} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 17 \\ 45 \overline{) 765} \\ \underline{45} \\ 315 \\ \underline{315} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 3 \\ 93 \overline{) 342} \\ \underline{279} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 4 \\ 31 \overline{) 124} \\ \underline{124} \\ 0 \end{array}$$

①

$$\begin{array}{r} 104 \\ 7 \overline{) 728} \\ \underline{7} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

②

$$\begin{array}{r} 6 \\ 88 \overline{) 554} \\ \underline{528} \\ 26 \end{array}$$

③

$$\begin{array}{r} 53 \\ 3 \overline{) 160} \\ \underline{15} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

④

$$\begin{array}{r} 18 \\ 8 \overline{) 144} \\ \underline{8} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 33 \overline{) 660} \\ \underline{66} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 42 \\ 3 \overline{) 126} \\ \underline{12} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 6 \\ 30 \overline{) 180} \\ \underline{180} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 69 \\ 12 \overline{) 828} \\ \underline{72} \\ 108 \\ \underline{108} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 5 \\ 37 \overline{) 186} \\ \underline{185} \\ 1 \end{array}$$

①

$$\begin{array}{r} 111 \\ 8 \overline{) 890} \\ \underline{8} \\ 9 \\ \underline{8} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

②

$$\begin{array}{r} 7 \\ 41 \overline{) 287} \\ \underline{287} \\ 0 \end{array}$$

③

$$\begin{array}{r} 100 \\ 4 \overline{) 400} \\ \underline{4} \\ 00 \end{array}$$

④

$$\begin{array}{r} 7 \\ 88 \overline{) 616} \\ \underline{616} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 4 \\ 44 \overline{) 176} \\ \underline{176} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 203 \\ 3 \overline{) 609} \\ \underline{6} \\ 09 \\ \underline{9} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 51 \\ 15 \overline{) 765} \\ \underline{75} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 125 \\ 7 \overline{) 875} \\ \underline{7} \\ 17 \\ \underline{14} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

①

$$\begin{array}{r} 129 \\ 7 \overline{) 903} \\ \underline{7} \\ 20 \\ \underline{14} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

②

$$\begin{array}{r} 105 \\ 7 \overline{) 735} \\ \underline{7} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

③

$$\begin{array}{r} 36 \\ 5 \overline{) 180} \\ \underline{15} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

④

$$\begin{array}{r} 15 \\ 31 \overline{) 465} \\ \underline{31} \\ 155 \\ \underline{155} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 201 \\ 4 \overline{) 804} \\ \underline{8} \\ 04 \\ \underline{04} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 5 \\ 50 \overline{) 250} \\ \underline{250} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 42 \\ 7 \overline{) 294} \\ \underline{28} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 3 \\ 37 \overline{) 111} \\ \underline{111} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 9 \\ 24 \overline{) 216} \\ \underline{216} \\ 0 \end{array}$$